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ANSWER KEY
I. READING COMPREHENSION (8 marks)
A. Choose the right option.
1. c. Infrastructure and economic development (1 mark)
B. Read the text and fill in the table. (0.5% 4= 2
marks
2. railways 3.ports/airports 4.schools  5.public housing
C. Circle the right options to indicate your answers. (0.5% 4= 2 marks
6=b 7=c 8=a 9=b

D. Statement 9 is true and statement 10 is false. Justify each of them by quoting passages
from the text
10. “There will be no economic development if solid infrastructure does not exist.”
11. “Therefore, we must develop all these types of infrastructure.”

E. Choose the right option.
12= c. Social infrastructure 13=b. citizens

Il. LINGUISTIC AND COMMUNICATIVE COMPETENCE (6 marks)

F. Choose the right option to fill in each gap. (0.5% 4= 2 marks)
14=provides 15=are improving 16=built 17= invested

H. Choose the right preposition from the list below to fill in each blank. (0.5% 4= 2 marks)
18=in 19=with 20 =on 21= of

G. Match each of these statements with the right notion from the box. (0.5% 4= 2 marks)
22=condition 23=possibility 24= comparison 25=obligation

lll. WRITING 6 marks

Understanding of topic: 1 — Coherence and cohesion: 1 — Content: 1 — Organization: 1 —Language
accuracy: 1 — Originality 1-



